HW3 &£ &3
Ch2
30(1)

1P71+2r 14 4+ (p—1)P7! = —1(modp)
o HERRIEEA S0P ! = 1(modp)xda =1,..p-1HEIL, B1P' + 277" + .+
(p— 1Pt =p— 1= —1(modp)KL.
35

EnABETEE, n>6, IEAn = 1(mod9)

TRIBEIE2.15, n=2F"1(27 — 1)Hrhpn2? — 1EBEHRHL.
EFn>6,Mp>=3.

HFpRFH, H=MiERITIe.

1. p=3
Mn=28, FHEHKMH.

2. p=3k+1, Ek7o{BEL
M = 23k(23k+1 —1) = 8’“(2 % 8F _ 1)
Mn = (—1)*¥(2 * (-1)% — 1)(mod9)
HTKEEL, BHERME.

3. p=3k+2 HFkHZTE
Mn = 23k+1(23k+2 _ 1) = 2 % 8F(4 % 8% — 1)
Mn =2 (—1)¥(4 % (=1)¥ — 1) = 8 + 2(mod9)
R E M.

37

K2, 4, 7, 8, 11, 13, 14150922
BF¢(15) = 8 M RATEERT, 2, 4, 8.
ZEMWIxB4, 2, 4, 4, 2, 4, 2.

38

(1)


af://n0
af://n2
af://n3
af://n9
af://n28
af://n33

k1 k2 k3 k4 k5 ké k7

0 1 5 2 22 6 12
k8 k9 k10 k11 k12 k13 k14
3 10 23 25 7 18 13
k15 k16 k17 k18 k19 k20 k21
27 4 21 11 9 24 17
k22 k23 k24 k25 k26 k27 k28
26 20 8 16 19 15 14
(2)

29898/ NRIR92,

#ind29 + indyx = ind22(mod28)
BFEindy9 = 10,ind2 =1
Hindyx = —9 = 19(mod28)
#r=/8s = 26(mod29)

3)

2989/ NRIR92,

9 * indsx = ind22(mod28)
axE

9 % indyz = 1(1mod28)
indsx = 25(mod28)

z = 11(mod29)

40

RPHFRE2E37THIR/IFIR.

20,21, 2967 " LWph THEIBTAOMR, BN S37EEMNISSENSEN2HEB7EAR, B37HIEIRER
£ LiRES,

EFEIBEITNER, WIEES36HE,
FrLl: € {1,5,7,11,13,17,19,23,25,29,31,35}

HR7HERES9{2,32,17,13,15,18,35,5,20,24,22,19}
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